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( 2 ) I t . a F A S T r e g i o n o f - 9 1 d - " ( a s e c t i o n b e t w e e n F A S T a n d F A S T E N D ) i n c l u d e s
F 0 R ,  W H I L E ,  R E F ; ; i ,  

- g L S n ,  - o - r - - l F  
D O ,  t h e n  

-  
i i  t u " t  a l s o  i n c l u d e  t h e

c o r r e s p o n d i n g  
' N ; i T , '  

I ^ I E N D ' ' U N i t L '  o r  ' ! N ! - r f '  
F o r  e x a m p l e '  t h e  f  o l l o w i n g

p rog rams  w i t l  g i ve  rhe  e r ro r  r " ^ " "Lg t ' r ns t  p r ' e i i l ugn i  i n i ron  AT  L INE 130 ' :

1OO FAST
1 1 0  F o R  T = 1  T 0  7
I2O S=S+T
130  FAST END
i4O NEXT T

lOO FAST
110  FOR T=1  T0  7
I2O S=S+T
130  FAST END
140  C=C*T+1
150  FAST
160 NEXT T
170  FAST END

I n t h e s e c o n d p r o g r a m i t i s t r u e t h a t F O R a n d i t s a c c o m p a n y i n g N E X T a r e
bo th  i n  Fns r  seS i i ; ; ; ; t coae , " ; ; ;  J " r  mus t  be  i n  t he  same FAST sec t i on '

( 3 ) I f a F A S T r e g i o n " t - : : 1 : i n c l u d e s N E X T ' W E N D ' U N T I L - ' o r E N D I F i t m u s t
a l so  i nc lude  the  accompany ing  f i j n '  Wg f ln '  REPEAT '  o r  IF  D0 '

( 4 ) I f O N G O T O o r O N G O S U B i s i n a F A S T r e g i o n , a l l t h e l i n e n u m b e r s
re fe r red  to  i n  t he  communa_r *J t -  U"  i "  FAST. t " i i on " '  How-eve r  t hey  do  no t

have  Lo  be  i n  rhe  same f l s t  i ! g i ; f . - ; ;  t he  ON: " In t t "a '  Conve rse l v '  i f  0N

GOTO or  0N GOSUB is  not  in  a 
-pesr  

reg ion ' -  none of  the referenced l ine

n u m b e r s  m a y  b ;  ;  F A S T  r e g i o n s '  F o r  e x a m p l e :

lOO FAST
110  0N T% GoSUB 200 ,300
120  FAST END
130  PRINT A$
140 END
190  FAST
200  A$="200" :RETURN
300 A&=' r300" :  RETURN
310  FAST END

The  above  examp le  w i l l  wo rk -even  though  the  0N GOSUB i s  i n  a  d i f f e ren t  FAST

reg ion  r r , un  r i , i J ;  t 00 ; ; ; : oo . - i r  r o . , l a1q_no t  i nc lude  l i nes  190  and  310  vou

wi l l  get  th"  ; ; ; ; ; " ; ; "  
'e ls t  p iacnMENT ERROR Ar LINE 110' r

u s e G O T O o r G O S U B f r o m a F A S T r e g i o n t o a n o n - F A S T r e g i o n a n d
F o r  e x a m P l e :
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( 5 )  Y o u  c a n
v i c e - v e r s a .

1OO INPUT T
110  GOSUB 200 :GOSUB 300
i  20 PRINT S ,B :  A@ :  END
130  FAST
200 S=T'FT+1 :  RETURN
3 0 0  B = S Q R ( T ) : R E T U R N
4 0 0  S U B  A @ : ?  " D O N E " : S U B E N D

5OO FAST END
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